ha

46 5 12
14
11 23
A= 32.1 ha ha A= ha A= ha A= ha
C= 3,816 = 2,233 C= 441 C= 861 C= 281
A= A= A= A=
C= C= C= C=
C= 3,914 = 2,601 C= 239 C= 283 C= 791
C= 7,730 4,834 C= 680 C= 1,144 C= 1,072
62.5 % 71.3 % 86.1 % 100%
(93.2 %) (99.7 %) (100 %) (100%)
14
15
18 71.3% 63.7 99.7
65.4 %
1
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2007

2011

8,282

210 7,154

15,646

7,887

200 6,813

14,900

10,570

99 8,611

19,280

40

40

55,893

36,380

40

1.89

84




85



291,422 250,874
231,117 250,874
60,305
20.7%
112,978 220,000
248,799 231,671
135,821 11,671
32,924 55,192
57,502 58,120
24,577 2,928
1,317 2,208
2,300 2,325
983 117
19
23
36,380
7,364
200
4,637
523
19
9,895 99 8,611 675 19,280
1.89
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